INSTALLATION INSTRUCTIONS I{E STORATIO

Lavatory Supply Kit
Models : RH-493-1 and 493X-2 HARDWARE

(for 5/8 O.D. Copper Tube)

Recommended Installation by a Professional Plumbing Contractor

® Turn off water supply & remove old valve.

® Slide flange, 5/8” compression nut and 5/8” compression sleeve onto copper tube.

® Position valve outlet to allow for water supply hookup to faucet.

® Place protective tape around valve and nut to protect the finish.

® Use a wrench to hold valve in place, use a second wrench to tighten nut to valve.

® Remove flare on supply tube inlet by trimming '2”.

® Check length and alignment of supply tube between faucet shank and valve outlet and modify
supply tube as necessary.

® Slide faucet friction nut & supply ring (not included) up to bull nose end of supply tube.

® Tighten supply nut to faucet shank.

@ Slide 3/8” compression nut & 3/8” compression ring onto inlet end of supply tube.

@® Place protective tape on nut & tighten to valve outlet.

® Turn on water supply. If leaks appear, check alignment and carefully retighten.

Riser

Faucet Shank 3/8” COMP nut
— 5/8” COMP nut
5/8” COMP
3/8” COMP sleeve
Bull nose sleeve Flange
Valve outlet
Friction ring
(not included) 7
Faucet supply ///
nut Valve Z
(not included) Z
Supply tube 7
7

5/8” Copper supply tube
Typical installation for contemporary style RH-493-1

Important notes for proper seal:

- Supply tube to have straight alignment into faucet shank & valve outlet.
- Any bending of supply tube shall be a minimum of 2” from either end.
- Allow 1/2” excess supply length to slip into valve outlet.

- After cutting ensure that tube is perfectly round and free of burrs.

Contents: (2) Valves, (2) Risers, (2) Compression sleeves, (2) Compression nuts, (2) Flanges
Tools required: (2) Adjustable wrenches, tube cutter, tube bender (if needed), protective tape



Care and Cleaning:

The lustrous finish on your RH Bathware Fitting should be treated with care.
Improper handling or cleaning can damage the surface of any metal finish.
Use a soft cloth to wipe clean. Avoid harsh abrasive cleaner. Water contains
lime and other mineral deposits that will be left on the surface after the
water has evaporated. You can prevent these deposits from forming by
always wiping the fitting dry immediately after use.

Technical Support and Customer Service

For technical support in the installation of your RH Bathware Fitting, please call
1-866-417-5207 weekdays between the hours of 7:00 am 4:00 pm, PST.

For other questions regarding your order, to order additional components of the
Restoration Hardware Bathware collection, to order replacement parts, or to
address warranty issues, please contact Restoration Hardware Customer Service

at 1- 877- 747- 4671.



